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" The curve defined by the vector equation

'. #(t) = (2cost,—2sint, 1) is
(A) A circle centered at (0,0,1) with radius 2 travasedin
\ ‘s the clockwise direction.

- (B) Adcircle centered at (0.0.1) with radius 2 traversed in
the counterclockwise direction. i
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(C) A circle centered at (0.0.2) with radius 2 traversed i
the clockwise direction. , ', ~
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The equation x* =y — 2% + 2x — 2 represents:

(A) A hyperbolic paraboloid centered at (1,1,0) and
axis is parallel to y-axis.

(B) A paraboloid with vertex (1,1,0) and axis is
parallel to y-axis

(C) A cone with vertex (1,1,0) & axis is parallel to
y-axis

(D) A hyperboloid of one sheet centered at (1,1,0) &
axis is parallel to y-axis.

(E) A hyperboloid of 2-sheets centered at (1,1,0) &
axis is parallel to y-axis.
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If the direction cosines of a vector v satisfy

cosa = ? cosf} = ?, cosy < 0, then the vector w that has the

length 4 and the same direction of v is

(A) (V5,¥2,—V3)
B) (3.2,-3)
© (=53.5:2)
(D) (-V5,-2VZ, 2V3)
(E) (V5,2vV2Z,—V3)
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The distance between the line L: %‘ =y+2=2-3
and the plane x—-y—-z=4

6

(A) 7

(B)

@l

(©)

al»

(D)

@l

(E)

@lw

2) vod on e e (b F=0) =3 (~1/-2,3)

Dz [ty 4 -l-2) 4 A(EY/

\}'l+l+'



2x* +y* +3z° — 2y = 4 , represents
(A) cone

(B) hyperboloid of one sheet

(C) hyperboloid of two sheets
(D) ellipsoid
(E) paraboloid
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The setol all points it lie Detween e 1z = plase and the vertical
plane ¥ = 4 and mside the sphere with center (0,0,—1) and radius 6
can be representec by the inequalities

(A) xz<y<4 andand  x* +y* +2° +22 <36,
B) 0<y<d4and x*+y*+z'-2z<36
(O 0<y<4 and x*+y*+2°+2z=35
(D) O<y<4and x*+y*+2%+22 <.
By 0£y<4 and x¥4+ylezt-22235
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Find the projecticn of 5C onto AH , proj;: BC
where A(1,2), B(1,6), C(5,5)

21 28,
(A= =)
8] (~5, 3]

€ —=i-2j

ia b

D --

[E] (-El_g}

Pro) - /i/ﬂ_ 1
J2H
_ 223, 21D @



An equation of the plane through the peint(-2,2Z, 1)
and parallel tothe plane S5r+ 7 =4 4+ 2y | is

(A) S(x=-2)=-2y+2)+(z+1)=0
(B) 5(x+2)+(y—-2)-2(z-11=10

(C) 5(x—2)+2y+2)+(z+1)=0
D) S(x+2)-2y-2)+(z-1)=0
(E) S(x+4+2)=2y=2)=(z=-1)=0

7) 5(r3)-2y-2) +7 -1 =° @7



Parametric equations of the line passing through the
point (2, -1, =3) , and perpendicular to the two lines

Lix=1+t , y=-2 , z=—t
2ix=3 , y=2~22 , 2=242% are

(A) x=24+2t, y==1-t 2=-=3-13t

(B) =3 -2 , yu—=14t, g=-3+3¢
C) x=f=3%, y==1l+t, s==3=4
D) x==2-2t, y==1=-t, z==-3+2

() x=2-2t, y==1—-t, z==-3-2t



